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2) Find.a functon that models the distance from you to the ground, ¢ minutes after boarding my
ferrs wheel, using transformations of the cosine uncion. 50 thateveryone's answers are the
same,use a negative value for A.

3) Sketch a graph of the funceion. Y- Arsn (B4 )+ D
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The ferris wheel function as a sinusoidal function

« Problem. Use the sinusoidal function to represent your
height f(t) above ground while riding the ferris wheel
Solution. The diameter of the ferris wheel is 450 fect so
the midline is k = 225 and the amplitude, A, is also 225.
The period of the ferris wheel is 30 minutes, so
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The graph is shifted to the right by t = 7.5 minutes since
we reach y =225 (the 3 o’clock position) when t =7.5.
Thus, the horizontal shift is h = 7.5, and the formula for

fit)

L4
fit)=225sin —(t—=7.5)+2.
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‘where t is in minutes and height is in feet.
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A flerris whesd has a diameter of 17m. You boerd at the bottom of the feris.
whesl from a platform 2m off the ground. If it takes 25 seconds to reach
the top, determine an equation for the height of a rider with respect to time.
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